Schaltgerat A B C D Es ENi
EP XN Moeller NZM7 190 106 35 = 15 10
EPR B Siemens 3VL1, 3VL2 172 108 29 = = =
EpR kN Siemens 3VL3 172 108 26 = 15 =
EPREYAN AB 140U-) 190 106 35 = 18 10
EYRER I AB 140U-L 270 140 35 = 11 12
EP R LI Moeller NZM2-XKR4 190 106 35 = 22 2
EyR U ABB T-max5 270 140 52 325 24 =
EPR LT ABB T-max4 320 110 52 325 24 =
PR LT Merlin NS250, GE FD 250 190 106 35 = 12 12
EP R LY Merlin NS630 270 140 35 = 12 12
EP RV B Moeller NZM3-XKR130 270 140 35 280 22 =
EP Y13 Siemens S3 182 70 26 = 22 =
EYR-L B AB 140-CMN 200 90 50 = 11 =
EVES I \V\oeller NZM1 200 90 38 - 17 -
EVEVIM ABB T-max1, T-max2, 200 90 26 - 10-20 -
GE FD 160, Merlin Gerin NS80
EPILY /3l Siemens 3VL2, 3VL3, 4-pol. 240 140 35 = 16 =
EPAY LI Siemens 3VL4, 4-pol. 300 185 35 = 15 =
PR3-Vl Moeller NZM2-XKR4, 4-pol. 240 140 35 = 2 =
EPJLT: X \oeller NZM3-XKR130, 4-pol. 300 185 35 = 15 =
EP AT Merlin NS250, 4-pol. 240 140 35 = -8 =
EPITERM Merlin NS630, 4-pol. 300 185 35 = 15 =
EP2-1:7 0 ABB T-max4, 4-pol. 240 140 35 = 7 =
EYR-1:1 0 ABB T-max5, 4-pol. 300 185 35 325 15 =
EP XYM Siemens 3VL4 295 140 55 = 6 19
EPA-Y[Bll Siemens 3VL1 UL 190 106 53 = 8 15
EP XYMl Siemens 3VL2, 3VL3 UL 190 106 53 = 16 7
YRVl Siemens 3VL5 325 184 55 = =7 =
* E, Versatz Schaltermitte bei Verbindung oben
** E, Versatz Schaltermitte bei Verbindung unten
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